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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE : 

(i) Bg àíZ-nÌ ‘| Xmo IÊS> h¢  H$ Am¡a I & g^r àíZ A{Zdm¶© h¢ & 

(ii) àíZ g§»¶m 1 go 10 Am¡a 18 go 27 A{V bKw-CÎmar¶ àH$ma Ho$ àíZ h¢, àË¶oH$ àíZ 1 A§H$ 
H$m h¡ & BZH$m CÎma EH$ eãX ¶m EH$ dm³¶ ‘| Xr{OE &  

(iii) àíZ g§»¶m 11 Am¡a 12 Am¡a 28 Am¡a 29 bKw-CÎmar¶ àH$ma Ho$ àíZ h¢, àË¶oH$ àíZ  
3 A§H$m| H$m h¡ & BZH$m CÎma bJ^J 60 go 80 eãXm| ‘| Xr{OE & 

(iv) àíZ g§»¶m 13 go 15 Am¡a 30 go 32 ^r bKw-CÎmar¶ àH$ma Ho$ àíZ h¢, àË¶oH$ àíZ  
4 A§H$m| H$m h¡ & BZH$m CÎma bJ^J 80 go 100 eãXm| ‘| Xr{OE & 

(v) àíZ g§»¶m 16 Am¡a 17 Am¡a 33 Am¡a 34 XrK©-CÎmar¶ àH$ma Ho$ àíZ h¢, àË¶oH$ àíZ  
6 A§H$m| H$m h¡ & BZH$m CÎma bJ^J 100 go 150 eãXm| ‘| Xr{OE & 

(vi) CÎma g§{jßV VWm q~Xþdma hmoZo Mm{hE Am¡a gmW hr Cn`w©³V eãX gr‘m H$m ¶Wmg§^d nmbZ 
H$s{OE & 

(vii) àíZ-nÌ ‘| H$moB© g‘J« {dH$ën Zht h¡ & VWm{n, EH$-EH$ A§H$ dmbo Xmo àíZm| ‘|, VrZ-VrZ 
A§H$m| dmbo Xmo àíZm| ‘|, Mma-Mma A§H$m| dmbo Xmo àíZm| ‘| Am¡a N>…-N>… A§H$m| dmbo Xmo àíZm| 
‘| Am§V[aH$ {dH$ën {XE JE h¢ & Eogo àíZm| ‘| Ho$db EH$ hr {dH$ën H$m CÎma Xr{OE & 

(viii) BgHo$ A{V[a³V, Amdí¶H$VmZwgma, àË¶oH$ IÊS> Am¡a àíZ Ho$ gmW ¶Wmo{MV {ZX}e {XE JE 
h¢ & 

IÊS> H$  

(g_{îQ> AW©emñÌ) 

1. __________ (Hw$b _m±J/Hw$b ny{V©) H$m VmËn`© EH$ boIm df© Ho$ Xm¡amZ EH$ AW©ì`dñWm _| 
Hw$b àË`m{eV ì`` go h¡ &                (ghr {dH$ën Ûmam [aº$ ñWmZ H$s ny{V© H$s{OE) 1 

2. C„oI H$s{OE {H$ {ZåZ{b{IV H$WZ gË`  h¡ `m AgË`  :  

 ‘‘Z{X`m| _| àdm{hV {H$`m J`m Am¡Úmo{JH$ H$Mam gH$mamË_H$ ~møVm H$m CXmhaU h¡ &’’ 1 
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises two sections  A and B. All questions are 

compulsory. 

(ii) Question numbers 1 – 10 and 18 – 27 are very short-answer questions 

carrying 1 mark each. They are required to be answered in one word or 

one sentence each.  

(iii) Question numbers 11 – 12 and 28 – 29 are short-answer questions 

carrying 3 marks each. Answers to them should not normally exceed  

60 – 80 words each. 

(iv) Question numbers 13 – 15 and 30 – 32 are also short-answer questions 

carrying 4 marks each. Answers to them should not normally exceed  

80 – 100 words each.  

(v) Question numbers 16 – 17 and 33 – 34 are long answer questions carrying 

6 marks each. Answers to them should not normally exceed  

100 – 150 words each.  

(vi) Answers should be brief and to the point. Also the above word limit be 

adhered to as far as possible.  

(vii) There is no overall choice. However, an internal choice has been provided 

in 2 questions of one mark, 2 questions of three marks, 2 questions of four 

marks and 2 questions of six marks. Only one of the choices in such 

questions have to be attempted.  

(viii) In addition to this, separate instructions are given with each section and 

question, wherever necessary. 

SECTION A  

(MACRO ECONOMICS) 

1. __________ (Aggregate Demand/Aggregate Supply) refers to total ex-ante 

expenditure in an economy during an accounting year.  

                                                         (Fill in the blank with the correct alternative) 1 

2. State whether the following statement is true or false : 

 ‘‘Industrial waste driven into rivers is an example of positive externality.’’ 1 
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3. Mmby ImVo Am{YŠ` (A{Yeof) H$mo n[a^m{fV H$s{OE & 1 

 AWdm 

 ^wJVmZ g§VwbZ H$s gmå` AdñWm V~ àmá hmoVr h¡ O~ g^r àm{á`m| Am¡a AXm`{J`m| H$m 

ewÕ _yë` ___________ (eyÝ`/YZmË_H$) hmoVm h¡ &  

                                          (ghr {dH$ën Ûmam [aº$ ñWmZ H$s ny{V© H$s{OE) 1 

4. `{X gr_m§V ~MV àd¥{Îm (MPS) eyÝ` Ho$ ~am~a hmo, Vmo {Zdoe JwUH$ H$m _yë` _________ 

hmoJm &                                     (ghr CÎma Ûmam [aŠV ñWmZ H$s ny{V© H$s{OE) 1 

5. _wÐm Amny{V© Ho$ Xmo KQ>H$m| H$m C„oI H$s{OE & 1 

6. `{X ñdm`Îm Cn^moJ )C(  eyÝ` go A{YH$ h¡, Vmo `h Xem©Vm h¡ {H$ AW©ì`dñWm H$s amï´>r` 

Am` ___________ hmoJr &               (ghr {dH$ën Ûmam [aº$ ñWmZ H$s ny{V© H$s{OE) 1 

(A) ~‹T>Vr hþB© 

(B) {JaVr hþB© 

(C) eyÝ` 

(D) pñWa 

7. C„oI H$s{OE {H$ {ZåZ{b{IV H$WZ gË`  h¡ `m AgË`  : 

 ‘‘pñWa {d{Z_` Xa àUmbr Ho$ VhV O~ {d{Z_` Xa _| d¥{Õ H$s OmVr h¡, Vmo Bgo _wÐm H$m 

Ad_yë`Z H$hm OmVm h¡ &’’ 1 

8. ‘H$a’ H$s n[a^mfm {b{IE & 1 
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3. Define Current Account Surplus. 1 

           OR 

 Equilibrium in Balance of Payments is achieved when the net value of all 

the receipts and payments is ___________ (zero/positive).  

                                               (Fill in the blank with the correct alternative) 1 

4. If Marginal Propensity to Save (MPS) is equal to zero, the value of 

investment multiplier will be ___________ .  

                                                     (Fill in the blank with the correct answer)  1 

5. State two components of Money Supply.  1 

6. If Autonomous Consumption )C(  is greater than zero, it indicates that 

the National Income of the economy will be __________ .  

                                               (Fill in the blank with the correct alternative) 1 

(A) rising 

(B) falling 

(C) zero 

(D) constant 

7. State whether the following statement is true or false :   

 ‘‘Devaluation of currency is said to occur when the exchange rate is 

increased under the fixed exchange rate system.’’ 1  

8. Define ‘Tax’.  1 
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9. {H$gr amï´> Ho$ Ho$ÝÐr` ~¢H$ Ûmam à{V^y{V`m| Ho$ H«$` VWm {dH«$` H$s à{H«$`m H$mo __________ 

H$hm OmVm h¡ &                           (ghr {dH$ën Ûmam [aº$ ñWmZ H$s ny{V© H$s{OE) 1 

(A) _m{O©Z Amdí`H$VmE± 

(B) Iwbo ~mµOma _| n[aMmbZ 

(C) ZH$X Ama{jV AZwnmV 

(D) d¡Ym{ZH$ VabVm AZwnmV 

10. ___________ µJ¡a-H$a amOñd àm{á H$m EH$ CXmhaU h¡ &  
                                            (ghr CÎma Ûmam [aŠV ñWmZ H$s ny{V© H$s{OE) 1 

11. ‘‘A§{V_ dñVwE± do dñVwE± hmoVr h¢, Omo {H$ Ho$db J¥hñWm| Ûmam Cn^moJ H$s OmVr h¢ &’’ {XE 

JE H$WZ H$m _mÝ` VH©$ Ûmam g_W©Z AWdm I§S>Z H$s{OE & 3 

  AWdm 

 ‘_yë` g§dY©Z’ Ho$ AW© H$s g§{já MMm© H$s{OE & 3 

12. EH$ AW©ì`dñWm Ho$ {ZåZ{b{IV Am±H$S>m| Ûmam (a) Cn^moJ ì`` VWm (b) {Zdoe ì`` H$s 

JUZm H$s{OE :  3 

H«$.g§. {ddaU am{e  
(< _|) 

(i) Am` H$m gmå` ñVa 5,000 

(ii) ñdm`Îm Cn^moJ 500 

(iii) gr_m§V ~MV àd¥{Îm 0.4 

13. ‘‘EH$ amï´ à~§{YV {VaVr àUmbr> (managed floating system) Ho$ A§VJ©V AnZr _wÐm Ho$ 

_yë` H$mo OmZ-~yPH$a H$_ aIVm h¡ &’’ g§{já {ddoMZm H$s{OE {H$ `h {H$g àH$ma Cg amï´> 

Ho$ {Z`m©Vm| H$mo à^m{dV H$aoJm & 4 

AWdm 

 ‘^maV _| {dXoer {Zdoe’ H$mo ŵJVmZ eof Ho$ {H$g nj VWm {H$g Cn-ImVo _| XO© {H$`m 

OmEJm ? AnZo CÎma Ho$ nj _| _mÝ` VH©$ àñVwV H$s{OE & 4 
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9. The process of buying and selling of securities by the Central Bank of a 

country is known as ___________ . 

                                               (Fill in the blank with the correct alternative) 1 

(A) Margin Requirement 

(B) Open Market Operations 

(C) Cash Reserve Ratio 

(D) Statutory Liquidity Ratio 

10. _____________ is an example of a non-tax revenue receipt.    

                                                     (Fill in the blank with the correct answer) 1 

11. ‘‘Final goods are those goods which are consumed only by the 

households.’’ Defend or refute the given statement with a valid argument. 3 

         OR 

 Discuss briefly the meaning of ‘Value Addition’. 3 

12. From the following data, calculate the (a) Consumption Expenditure and 

(b) Investment Expenditure for the economy. 3 

S. No. Particulars 
Amount  

(in <) 

(i) Equilibrium level of income 5,000 

(ii) Autonomous consumption 500 

(iii) Marginal Propensity to Save 0.4 

13. ‘‘A country deliberately keeps the value of its currency low under the 

managed floating system.’’ Discuss briefly how it will affect the exports of 

the country.   4 

OR 

 On which side and in which sub-account of Balance of Payments, will 

‘foreign investment in India’ be recorded ? State valid reason for your 

answer.  4 
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14. Ho$ÝÐr` ~¢H$ Ho$ ‘gaH$ma Ho$ ~¢H$a’ H$m ©̀ H$m dU©Z H$s{OE & 4 

15. gaH$mar ~OQ> _| amOH$mofr` KmQ>o VWm amOñd KmQ>o _| {d^oX H$s{OE & 4 

16. (a) Cn ẁº$ H$maU XoVo hþE ~VmBE {H$ EH$ ‘{dÚmb` Ho$ AÜ`mnH$’ H$s godmAm| H$m 

amï´>r` Am` H$s JUZm _| {H$g àH$ma go {Zê$nU/à{VnmXZ {H$`m OmEJm ?  2 

(b) ‘dmñV{dH$ gH$b Kaoby CËnmX’ VWm ‘_m¡{ÐH$ gH$b Kaoby CËnmX’ _| A§Va ñnï> 

H$s{OE & 4 

17. (a) ‘‘AW©ì`dñWm _| {JaVr hþB© _m±J H$mo ~‹T>mdm XoZo Ho$ {bE, hmb hr _| ^maVr` [aµOd© 

~¢H$ Zo aonmo Xa VWm [adg© aonmo Xa _| H$_r H$s h¡ &’’ Ho$ÝÐr` ~¢H$ Ûmam CR>mE JE BZ 

H$X_m| Ho$ nrN>o Ho$ Am¡{MË` H$s ì`m»`m H$s{OE & 4 

(b) ‘AZ¡pÀN>H$ ~oamoµOJmar’ H$mo n[a^m{fV H$s{OE & 2 

AWdm 

 Adñ\$s{VH$ A§Vamb H$m Š`m AW © h¡ ? Adñ\$s{VH$ A§Vamb H$s Bg n[apñW{V Ho$ g_mYmZ 

Ho$ {bE {H$Ýht Xmo _m¡{ÐH$ CnH$aUm| H$m C„oI H$s{OE & 6 

IÊS> I  

(^maVr` AW©ì`dñWm H$m {dH$mg) 

18. MrZ _|, H$å`yZ ì`dñWm ____________ joÌ go g§~§{YV h¡ &  

                                          (ghr {dH$ën Ûmam [aº$ ñWmZ H$s ny{V© H$s{OE) 1 

(A) H¥${f 

(B) CÚmoJ 

(C) godm 

(D) AZm¡nMm[aH$ 
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14. Describe the ‘Banker to the Government’ function of the Central Bank. 4 

15. Distinguish between fiscal deficit and revenue deficit in a Government 

Budget.  4 

16.  (a) Giving valid reasons, state how the services of a ‘School Teacher’ 

will be undertaken in estimation of National Income. 2  

(b) Distinguish between ‘Real Gross Domestic Product’ and ‘Nominal 

Gross Domestic Product’. 4 

17. (a) ‘‘To boost the falling demand in the economy, Reserve Bank of 

India recently reduced Repo Rate and Reverse Repo Rate.’’ 

Elaborate the rationale behind the steps taken by the Central 

Bank.  4 

 (b) Define involuntary unemployment. 2 

OR 

 What is meant by deflationary gap ? State any two monetary measures to 

correct the situation of deflationary gap.  6 

SECTION B   

(INDIAN ECONOMIC DEVELOPMENT) 

18. In China, commune system is related to ___________ sector.  

                                               (Fill in the blank with the correct alternative) 1 

(A) agriculture 

(B) industry 

(C) service 

(D) informal 
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19. ‘AmYm[aH$ g§aMZm’ H$mo n[a^m{fV H$s{OE & 1 

20. ^maV _| `moOZm H$m _w»` bú`, ___________ (g_mZVm/Ag_mZVm) Ho$ gmW Am{W©H$ 

{dH$mg Wm &                             (ghr {dH$ën Ûmam [aº$ ñWmZ H$s ny{V© H$s{OE) 1 

21. C„oI H$s{OE {H$ {ZåZ{b{IV H$WZ gË`  h¡ AWdm AgË`  : 

 ‘‘àma§{^H$ {ejm _| àmW{_H$ VWm _mÜ`{_H$ XmoZm| ñVa H$s {ejm em{_b hmoVr h¡ &’’ 1 

22. _mAmo Zo ‘J«oQ> brn \$m°adS>©’ (GLF) A{^`mZ H$s ewéAmV __________ df© _| H$s Wr &  

                                                        (ghr {dH$ën H$m M`Z H$s{OE) 1 

(A) 1952 

(B) 1958 

(C) 1960 

(D) 1968 

23. __________ Zha Ho$ Iwb OmZo go, {~«Q>oZ VWm ^maV Ho$ _Ü` dñVwAm| Ho$ n[adhZ H$s 

bmJV _| H$_r AmB© Wr &                                   ([aº$ ñWmZ H$s ny{V© H$s{OE) 1 

24. C„oI H$s{OE {H$ {ZåZ{b{IV H$WZ gË`  h¡ AWdm AgË`  :  

 ‘‘CÚmoJm| Ûmam CËg{O©V YwE± go n`m©daU àXÿfU hmoVm h¡ &’’ 1 

25. 1956 Ho$ Am¡Úmo{JH$ Zr{V àñVmd Ho$ A§VJ©V CÚmoJm| H$mo ___________ (Xmo/VrZ) dJm] _| 

dJuH¥$V {H$`m J`m Wm &                  (ghr {dH$ën Ûmam [aº$ ñWmZ H$s ny{V© H$s{OE) 1 

26. {ZåZ{b{IV _| go {H$g àH$ma H$s ~oamoµOJmar _| _µOXÿa H$s gr_m§V CËnmXH$Vm eyÝ` hmoVr h¡ ? 

                                                                            (ghr {dH$ën H$m M`Z H$s{OE) 1 

(A) g§aMZmË_H$ ~oamoµOJmar 

(B) AZ¡pÀN>H$ ~oamoµOJmar 

(C) _m¡g_r ~oamoµOJmar 

(D) àÀN>Þ ~oamoµOJmar  
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19. Define ‘infrastructure’.  1 

20. Economic growth combined with ___________ (equity/disparity) was the 

principal goal of planning in India.  

                                              (Fill in the blank with the correct alternative) 1 

21. State whether the following statement is true or false : 

 ‘‘Elementary education covers both primary and middle level education.’’ 1 

22. Great Leap Forward (GLF) was the campaign launched by Mao in the 

year __________ .                                          (Choose the correct alternative) 1 

(A) 1952 

(B) 1958 

(C) 1960 

(D) 1968 

23. Opening of ___________ Canal significantly reduced the cost of 

transportation of goods between Britain and India. (Fill in the blank) 1 

24. State whether the following statement is true or false :   

 ‘‘Smoke emitted by the industries leads to environmental pollution.’’ 1 

25. In the Industrial Policy Resolution of 1956, industries were classified in 

____________ (two/three) categories.  

                                              (Fill in the blanks with the correct alternative) 1 

26. In which of the following type of unemployment, is the marginal 

productivity of the worker zero ?                (Choose the correct alternative) 1 

(A) Structural unemployment 

(B) Involuntary unemployment 

(C) Seasonal unemployment 

(D) Disguised unemployment  
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27. ‘{dn{UV A{Yeof’ H$s n[a^mfm Xr{OE & 1 

         AWdm 

 ‘H¥${f CËnmXH$Vm’ go Š`m A{^àm` h¡ ? 1 

28. n`m©daUr` jaU Ho$ {H$Ýht Xmo _w»` H$maUm| H$m C„oI VWm MMm© H$s{OE & 3 

         AWdm 

 ^maV _| O¡{dH$ H¥${f Ho$ {H$Ýht Xmo bm^m| H$m C„oI H$s{OE & 3 

29. ^maV Ho$ J«m_rU {dH$mg H$s à{H«$`m _| J«m_rU ~¢qH$J ì`dñWm H$s ŷ{_H$m H$s MMm©  
H$s{OE & 3 

30. CXmarH$aU H$s Zr{V Zo ^maVr` [aµOd© ~¢H$ (RBI) H$mo {dÎmr` joÌ Ho$ ‘EH$ {Z`m_H$’ H$s 

^y{_H$m go ~Xb H$a ‘EH$ gwJ_H$Vm©’ _| ~Xb {X`m h¡ & 

 {XE JE H$WZ H$m _mÝ` VH$m] Ûmam g_W©Z AWdm I§S>Z H$s{OE & 4 

31. OZgm§p»`H$s Ho$ AmYma na ^maV d nm{H$ñVmZ H$s VwbZm H$s{OE & 4 

32. ^maVr` AW©ì`dñWm H$s `moOZm à{H«$`m Ho$ CÔoí` Ho$ ê$n _| ‘AmË_-{Z^©aVm’ Ho$ M`Z Ho$ 

Am¡{MË` H$s g§jon _| MMm© H$s{OE & 4 

AWdm 

‘‘^maV H$mo àm`… {díd H$m ‘~møàmnU J§Vì`’ H$hm OmVm h¡ &’’ ^maV H$mo {XE JE Bg Zm_ 
Ho$ _w»` H$maUm| H$m C„oI VWm MMm© H$s{OE & 4 

33. (a) l{_H$-OZg§»`m AZwnmV H$mo n[a^m{fV H$s{OE & `h Š`m Xem ©Vm h¡ ?  4 

(b) ^maV _| D$Om© g§H$Q> go {ZnQ>Zo Ho$ {bE, hmb hr _| {H$E JE {H$Ýht Xmo gwYmam| na 

MMm© H$s{OE & 2 

AWdm 

 ‘‘^maV _| µJar~r CÝ_ybZ H$m`©H«$_, H$B© H$maUm| go Ag§VmofOZH$ aho h¢ &’’ Eogo {H$Ýht VrZ 

H$maUm| na {Q>ßnUr H$s{OE & 6 
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27. Define Marketed Surplus.  1 

  OR 

 What is meant by Agricultural Productivity ?  1 

28. State and discuss any two principal causes of environmental degradation. 3 

OR 

 Mention any two advantages of organic farming in India. 3 

29. Discuss the role of the rural banking system in the process of rural 

development in India. 3 

30. The policy of liberalisation changed the role of Reserve Bank of India 

(RBI) from ‘a regulator’ to ‘a facilitator’ in the financial sector. 

 Defend or refute the given statement with valid arguments. 4 

31. Compare India and Pakistan on the basis of their demography. 4 

32. Discuss briefly the rationale behind choosing ‘self-reliance’ as an objective 

for the planning process of the Indian economy. 4 

OR 

 ‘‘India is often called as ‘outsourcing hub’ of the world.’’ State and discuss 

the prime reasons for this name given to India. 4 

33. (a) Define worker-population ratio. What does it signify ? 4 

(b) Discuss any two reforms which have been initiated recently to 

meet the energy crisis in India. 2 

OR 

 ‘‘In India, the Poverty Alleviation Programmes have been found 

unsatisfactory due to many reasons.’’ Comment on any three such 

reasons.  6 
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34. (a) C„oI H$s{OE {H$ {H$g àH$ma _mZd ny±Or _| {Zdoe, EH$ AW©ì`dñWm Ho$ {dH$mg _| 

`moJXmZ XoVm h¡ & 4 

(b) {ZåZ{b{IV H$mo n[a^m{fV H$s{OE (H$moB© Xmo) : 2 

(i) ñd{U©_ H«$mpÝV 

(ii) ídoV H«$mpÝV  

(iii) h[aV H«$mpÝV 
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34.  (a) State how investment in human capital contributes to growth of an 

economy.  4 

(b) Define the following (Any two) : 2 

(i) Golden Revolution 

(ii) White Revolution 

(iii) Green Revolution 

 


